
CMPT	
  371:	
  Quiz	
  (2)	
  

Name:	
  	
  	
   	
   	
   	
   Student	
  Number:	
  
(Q1–15	
   points)	
   Name	
   the	
   three	
   states	
   of	
   TCP	
   congestion	
   control.	
   Then,	
  
describe	
  what	
   is	
   the	
   event	
   that	
   triggers	
   the	
   start	
   of	
   each	
   state	
   and	
   how	
   the	
  
congestion	
  window	
  size	
   is	
  calculated	
   in	
  each	
  state.	
  Please	
   indicate	
  any	
  other	
  
important	
  variable	
  that	
  should	
  be	
  set	
  after	
  an	
  event,	
  or	
  in	
  a	
  specific	
  state.	
  

	
  

	
  
	
  

	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

(Q2–5	
  points)	
  What	
  is	
  flow	
  control?	
  What	
  is	
  congestion	
  control?	
  What	
  are	
  the	
  
similarities	
  and	
  differences	
  of	
  these	
  two	
  methods?	
  

	
  

	
  

	
  

	
  

	
  
	
  
	
  
	
  


